
                                               

Question Bank 

Grade: 5 

Subject: Mathematics 

Chapter 2: Numbers beyond 10,000 

 

A. Choose the correct answers.  

1. The place value of the digit 8 in 78,921 is:  

       a. 80,000      b. 800           c. 8              d. 8000 

2. 20,000 + 0 + 500 + 30 + 2 is the expanded form of:  

      a. 20,523       b. 25,302      c. 20,532     d. 25,032  

3. The greatest number to be formed with the digits 4, 3, 7, 8 and 0 is:  

     a. 80,743        b. 87,430       c. 78,430      d. 84,730  

4. Which of these numbers is the successor of 21,111?  

      a. 22,111       b. 22,112       c. 21,112      d. 21,110  

 

B. Arrange the numbers in ascending order. 

5. 31,235; 31,254; 13,542; 32,050  

6. 54,560; 45,640; 36,201; 45,460  

 



C. Arrange the numbers in descending order.  

7. 31,890; 52,003; 7654; 76,432  

8. 32,890; 43,067; 23,760; 32,987  

 

D. Solve. 

9. What is 100 more than 76,999? 

10. What is 1000 less than 99,999?  

 

E. Write in words.  

11. 23,456  

12. 47,899  

13. 15,673  

 


